> A
A & 0l & AF 2 E A A
20158 & =04 LBHSIH FAA S
AN SIS H
HE: SMAB A5
el sae CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
LA S0 20,688,277 18,118,245 2,570,032
= 6,915,350
X 320,000
J| 3,734,937
= 2,442,793
Al 7,275,197
SagZHHE 2at 20,346,157 17,522,959 2,823,198
= 6,895,350
X 240,000
J| 3,734,937
< 2,413,365
Al 7,062,505
E AT el 1,670,900 2,019,889 A 348,989
X 240,000
< 460,679
Al 970,221
E-palgeal= FSPNE] 43,649 93,649 A50,000
201 £B-2dH| 34,193 54,193 A20,000
01 At 22l 24,193 34,193 A 10,000
O2E==EH| 19,723
ZNTE AR 4,921,000 4,921
NELBS 22 2 2292 M
10,000, 000& 10,000
o SEMNE YRFA 2,000,000 2,000
o0 NEFESHEAMA R 1,500,000 1,500
oMER=Z 864,000 864
o MRa F2D ABR 438,000 438
O=&l 4,470
o SMIE FRFA 2,000,000& 2,000
o SEMNE HEFA 2,470,000 2,470
03 A2 Z Hl 10,000 20,000 A 10,000
OXZHLHER A& 28 10,000, 000& 10,000
202 oddl 9,456 9,456 0
01 = LH o4 1l 9,456 9,456 0
O=4 gR=A 9,456,000& 9,456
Ngdstesd 300,000 360,000 A 60,000
301 et A3z 30,000 0 30,000
MIEE243 30,000 0 30,000
OLsS=s £o Za=s XN 30,000, 000& 30,000
307 glz2tol & 60,000 120,000 A 60,000
08 OIXtEE 3 60,000 120,000 A 60,000
Ost2YARZ OIXNEA 60,000, 000& 60,000




SN BMEED
HE: SMAB A5
el saRe (29l & 2)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
402 RI2EX20l A 210,000 240,000 /30,000
01 It 2 AL E X 210,000 240,000 230,000
OXEHE2 S=EHIXE 40,000, 000& 40,000
OXg4Lste ZAXA 140,000, 000& 140,000
OX 85 DNA(ZI X&) Z AHl X &
30,000,000& 30,000
Hdsig=sd 55,000 104,000 A 49,000
402 QI2H X201 M 55,000 104,000 A 49,000
01 It =2 AL E X 55,000 75,000 A20,000
ORALEE HEAY 20,000, 000& 20,000
O&L =Z&0la X3 A 35,000,000& 35,000
SO MAFHAISE (EX) 33,100 62,600 229,500
< 9,930
Al 23,170
307 21201 A 33,100 62,600 229,500
= 9,930
Al 23,170
02 It S AHE L 33,100 62,600 A 29,500
OSO0HA A AFE ALY 33,100,000& 33,100
< 9,930
Al 23,170
DEHASIIANMN NIAMG(EX) 19,000 367,000 A 348,000
< 5,700
Al 13,300
402 RI2EX=01 M 19,000 367,000 A 348,000
< 5,700
Al 13,300
01 It AL E X 19,000 367,000 A 348,000
OCLEZ LSIXM XSA 19,000,000 19,000
< 5,700
Al 13,300
IIEMHEEsHARLSXNA(BR) 186,200 196,000 29,800
< 69,825
Al 116,375
301 et a = 186,200 196,000 29,800
< 69,825
Al 116,375
MIIEE4d3 186,200 196,000 A9,800
OIENH2E soRez N
186,200,000 186,200
< 69,825
Al 116,375
24 FYEHEHES SHAMG(BX) 21,000 21,000 0
< 6,300
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= M

21,000

6,300
14,700

21,000

MIIEtEd =
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OT=4Ee Bo=ae S

StEd A

21,000,000

Al

21,000

21,000

6,300
14,700

21,000

H

Al

158,400

63,360
95,040

167,500

A 9,100

H

Al

158,400

63,360
95,040

167,500

9,100

012 tEAMmdEx
A

OSMII XM K&

®
B
rx
THo
ot
1]
oor
0z

84,000,000

74,400,000

H

Al

= M

158,400

84,000
33,600
50,400
74,400
29,760
44,640

167,500

A 9,100

00
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1
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S
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>
10
o
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= M

118,965

39,655
79,310

110,880

8,085

402 2I2tXt=01&

= M
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110,880

8,085
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e
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= H
og
A
=
o
>
R

118,965,000&
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H

Al

18,507

5,552
12,955

18,507

= M

18,507

5,552
12,955

18,507

18,507,000

= M

18,507

18,507

5,652
12,955

18,507
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Okt
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30,000

40,000

A 10,000

30,000

40,000
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30,000

40,000

A 10,000




AR AR E=
HE: SMAB A5
el sae CER-ED
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
OLZZ 2244 NFAE 30,000,000 30,000
dEMASH(EX) 3,500 0 3,500
S 1,050
Al 2,450
402 QIZ2tXt=01 & 3,500 0 3,500
= 1,050
Al 2,450
01 A EAMLEXE 3,500 0 3,500
O2=sIt M2MHF10 XA 3,500,000 3,500
T 1,050
Al 2,450
HA SE 22X 40,000 40,000 0
402 2I2tXt=01 & 40,000 40,000 0
01 et HEAMHEE 40,000 40,000 0
OHXl N X2 AL 40,000,000& 40,000
HRANENEMAZAS (EX) 18,000 18,000 0
= 7,200
Al 10,800
402 12t Xt=01 & 18,000 18,000 0
= 7,200
Al 10,800
012 tEAMmdEx 18,000 18,000 0
ORIl MM XA 18,000,000 18,000
S 7,200
Al 10,800
YMARH(EX) 171,675 397,260 N 225,585
£ 171,675
307 2I2+0| & 171,675 397,260 ~225,585
= 171,675
02 QB AAMNPEE 57,675 97,260 A 39,585
OSds0 243 NFAE 57,675,000& 57,675
T 57,675
04 QIZHHALALH B £ 114,000 300,000 A 186,000
OM&s0t etote X2 49,000,000 49,000
S 49,000
0223 ENANE 65,000,000& 65,000
= 65,000
=29 2 ZMEUH ASEZHNE(XS) 48,000 42,000 6,000
Xl 40,000
Al 8,000
402 2I2tXt=01 & 48,000 42,000 6,000
Xl 40,000
Al 8,000
01 eI HEAMHEE 48,000 42,000 6,000




AR AR E=
HE: SMAB A5
el ELBe (e
= — = s
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
O=3 & Bl Ats &3d
48,000,000& 48,000
X 40,000
Al 8,000
HERSMNEEWS(XNE) 280,000 0 280,000
Xl 200,000
Al 80,000
402 B12t =01 & 280,000 0 280,000
Xl 200,000
Al 80,000
012 HtEAMdExR 280,000 0 280,000
OI=2SAE Sl 280,000,000 280,000
X 200,000
Al 80,000
HESE0AMBYLAIG (EX) 24,960 0 24,960
= 24,960
402 It Xt=01 & 24,960 0 24,960
= 24,960
01 A EAMEEE 24,960 0 24,960
OEZSE0AIBHLAS 24,960,000 24,960
S 24,960
SESTHMNLEHI XA (EX) 60,000 0 60,000
& 30,000
Al 30,000
DI2H RO A 60,000 0 60,000
= 30,000
Al 30,000
01 I HEAMHEE 60,000 0 60,000
OSS=HEFHIXNA AL 60,000,000& 60,000
= 30,000
Al 30,000
oI (2X) 30,000 0 30,000
S 20,000
Al 10,000
307 glztol & 30,000 0 30,000
S 20,000
Al 10,000
02 It HAMAEE 30,000 0 30,000
O =N UE N = 30,000,000 30,000
< 20,000
10,000
SASHHSAHMAIS (EX) 10,944 0 10,944
S 5,472
Al 5,472
402 QI2tXt=01 ™ 10,944 10,944
- 5 -
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]

[z rx

e

02 B

oY 0lon
v
0y
tol

SA - BB B () - MM - BES Ol &t o San HmEET
< 5,472
Al 5,472
01 A=A EX 10,944 0 10,944
O=S AR ool S 2 H A 10,944,000 10,944
< 5,472
Al 5,472
=<4 2tel 10,867,641 6,793,925 4,073,716
= 6,895,350
J| 337,350
< 917,729
Al 2,717,212
IF=ZEU ALY 194,475 294,310 A 99,835
201 Lt 2| 29,270 29,270 0
01 At 22/l 12,270 12,270 0
oO2et=gH| 2,050
o =Y g 2,050,000 2,050
Ozg+¢ 1,120
o KNEHER BE2 23 gofd
70,0003 x8H +23] 1,120
O=gHtl 5,500
o =AY HRFA 5,500,000 5,500
[ DN = 3,600
o EFdct 4XM=2 HFHYX 3,600,000 3,600
02 =224l 17,000 17,000 0
OZ232SLAA 3,000, 000& 3,000
OXHE & | 14,000, 000& 14,000
202 o4l 4,000 4,000 0
01 = LH YI 4,000 4,000 0
Ot dae g2 2,800,000 2,800
SSTHA=AA O 100,000 x12& x1H 1,200
206 TH 2 HI 60,000 150,000 90,000
01 MHZ 4l 60,000 150,000 290,000
O<RlololE & JIMs 2 2 50,000,000 50,000
ONEHGEZA & gz 2
6,000,000& 6,000
OJI=HEEIAMN & 4HE M 2L
4,000,000 4,000
301 g2 4= 79,205 79,040 165
1MIIEBELSS 79,205 79,040 165
OZSSLI==2A & =]
600,000& x2H x12& 14,400
OS2 A=A < 40,000 «2H « 122 960
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Mz
40 @ A
0z 0Y 0loh
o &
ooy

O\J

o

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OIS AF =AH XA
250,000& x2H x12& 6,000
OZEYALIAN 222 4Y
6,537 *50 Al 2t * 128 »2H 7,845
OXHE 2 HAS 8HY He X e
50,000,000 50,000
307 glz2tol & 2,000 2,000 0
06 283 2,000 2,000 0
OJlEgoR Yyoas Af2EE
2,000,000& 2,000
402 BIZEXHE 0| A 20,000 30,000 A 10,000
01 It AL E X 20,000 30,000 A 10,000
OFLsI 2R ASAE X
20,000, 000& 20,000
II=ENEY 42 2,000 2,000 0
201 £B-2%H| 2,000 2,000 0
01 At 22/l 2,000 2,000 0
O1 =l 2,000
o &XE SAA Il=Hl 2,000,000 2,000
=LA AZANFA ALY 320,000 340,000 220,000
206 = Hl 320,000 340,000 220,000
01 MHZ 4l 320,000 340,000 220,000
OCAl S 2L 50,000& *2,0004& 100,000
OHRHA AEYARASH & 70,000,000 70,000
OZZHYSEFLY HYAE 7
425,000,000 20,000
OXNEHER SONEZAE HEds ¢
10,000& *3,0005 30,000
ONsdggEuY A=2F F2 50,000,0003 50,000
OA2EEE (PRRS)OIY M=8Al X2
50,000,000 50,000
IIELAAEZ(EX) 1,406,115 1,394,592 11,523
= 802,287
< 177,402
Al 426,426
206 M= Hl 656, 155 614,432 41,723
= 345,307
< 83,842
Al 227,006
01 =8l 656,155 614,432 41,723
ONELAXZ(AHMA, MIBL0IAA M)
656, 155,000& 656,155
= 345,307
S 83,842
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Al
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38,000
8,000
2,400
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30,000
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40,000

2,000

301 LprE a3

H

Al

11,600

3,480
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10,000

1,600
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= M
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11,600

3,480
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10,000
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= H W

125,020
37,506
25,004
62,510

125,020




SN EMFED
HE: SMAB A5
SERPIE LR EERED
SN FE - EA(SA) - MRAY - BES il Bl RE2
301 et a = 125,020 125,020 0
= 37,506
= 25,004
Al 62,510
11 JIEtE 4 125,020 125,020 0
OLr B2 125,020,000 125,020
= 37,506
< 25,004
Al 62,510
Has 23Y 151,992 107,083 44,909
J| 75,997
= 22,798
Al 53,197
403 XHXIEHH S 151,992 0 151,992
J| 75,997
< 22,798
Al 53,197
02 BJI&s 151,992 0 151,992
OZ M2 151,992,000& 151,992
J| 75,997
< 22,798
Al 53,197
229 +E(EX) 42,000 42,000 0
< 12,600
Al 29,400
301 YerE A 42,000 42,000 0
< 12,600
Al 29,400
11 JIEtE 4 42,000 42,000 0
032 42,000,000 42,000
< 12,600
Al 29,400
DRRBAANY(BE) 274,019 277,021 ~3,002
J| 164,411
< 27,402
Al 82,206
307 21201 A 274,019 277,021 A 3,002
J| 164,411
< 27,402
Al 82,206
02 212t &t 274,019 277,021 A 3,002
OS2SR 274,019,000& 274,019
Jl 164,411
< 27,402
Al 82,206
EPNPN=REE I EMETCES 48,000 60,000 £12,000
= 24,000
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129,884
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19,553
45,389
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= N
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25,430
59,440
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13,470

= M

84,870
25,430
59,440
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13,470
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84,870,000&

= M

84,870
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59,440
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28,

10,
18,

750
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69,250

240,500
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[y}

I2ttE0l ™

t

Al

28,

10,
18,

750
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500

69,250

240,500

OS=MAXcIAIE X&
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= M

H

Al

28,
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,500
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H
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40
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W

Al
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= N W
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564

2,796,496
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= M W

7.075,
5,660,
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471
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4,278,975
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= N W

,075,
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SN BNTED
HE: SMAB A5
SERPIE LR EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
301 et A= 39,203 32,669 6,534
= 19,602
& 5,880
Al 13,721
11 J|EtE A2 39,203 32,669 6,534
OXNSRAAMEIX SHE 39,203,000& 39,203
= 19,602
= 5,880
Al 13,721
S=2SEM K& 3,000 0 3,000
201 et 2,000 0 2,000
01 AR 22l ] 2,000 0 2,000
Ot 2Y| 2,000
o sSE2SEMN =& 2,000,000& 2,000
301 et A= 1,000 0 1,000
11 J|EtE A= 1,000 0 1,000
OS=SSEH HHSH X3 1,000,000& 1,000
WS Xl AMs22(EX) 60,000 0 60,000
= 30,000
o= 9,000
Al 21,000
201 et d| 12,000 0 12,000
= 6,000
o= 1,800
Al 4,200
01 A2t 2| bl 12,000 0 12,000
OLet=2d| 12,000
o =Xl AIZE 22| 12,000,000& 12,000
= 6,000
= 1,800
Al 4,200
206 M = Hl 48,000 0 48,000
= 24,000
o=} 7,200
Al 16,800
01 =4l 48,000 0 48,000
OUES X AIE 22| 48,000, 000& 48,000
= 24,000
& 7,200
Al 16,800
letesAl MEASHI(EX) 53,756 0 53,756
= 26,878
& 8,063
Al 18,815
301 LBt A= 53,756 0 53,756




SN BMEED
HE: SMAB A5
SERPIE LR EERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 26,878
< 8,063
Al 18,815
MIIEE4d3 53,756 0 53,756
O & al HEAl=HI 53,756,000& 53,756
= 26,878
< 8,063
Al 18,815
EYY JtagAsE(EX) 15,000 0 15,000
= 7,500
< 2,250
Al 5,250
201 £B-2dH| 15,000 0 15,000
= 7,500
< 2,250
Al 5,250
01 At 22l 15,000 0 15,000
O2et=ZH| 15,000
0 JtEYY JtaYd=H 15,000, 000& 15,000
= 7,500
< 2,250
Al 5,250
2= g ael N (EX) 48,000 0 48,000
= 24,000
< 8,000
Al 16,000
402 RI2EX20| M 48,000 0 48,000
= 24,000
< 8,000
Al 16,000
01 B2t AL E X 48,000 0 48,000
OJtasIt 2822 X& 48,000,000& 48,000
= 24,000
< 8,000
Al 16,000
HELSHEANE(EX) 486,400 0 486,400
= 243,200
< 72,960
Al 170,240
401 A& HIZ 201 Y] 486,400 0 486,400
= 243,200
< 72,960
Al 170,240
01 A& HI 482,898 0 482,898
OHE LS NEAE 482,898,000& 482,898
= 241,449
< 72,435




SN EMFED
HE: SMAB A5
©: Jtseldae (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 169,014
03 Al S THHI 3,502 0 3,502
OHE LA=SHAEAE 3,502,000& 3,502
2 1,751
< 525
Al 1,226
DEAL Al ASYSAH(2E) 23,572 0 23,572
< 7,072
Al 16,500
206 M= Hl 23,572 0 23,572
< 7,072
Al 16,500
01 =8l 23,572 0 23,572
ODEAY Al =¥l 23,572,000& 23,572
= 7,072
Al 16,500
THS 2ZEAH(EX) 12,144 0 12,144
= 3,644
Al 8,500
206 M= Hl 12,144 0 12,144
< 3,644
Al 8,500
01 =4l 12,144 0 12,144
OZHS 2=gA] 12,144,000 12,144
= 3,644
Al 8,500
HA 2HE g N (EX) 13,050 0 13,050
< 3,915
Al 9,135
206 2 I 13,050 0 13,050
< 3,915
Al 9,135
01 M2 4l 13,050 0 13,050
OZXEx BHE AN 13,050, 000& 13,050
= 3,915
Al 9,135
TR HAAEY A 25H X (2F) 67,320 0 67,320
= 20,196
Al 47,124
206 T 24 67,320 0 67,320
= 20,196
Al 47,124
01 =8l 67,320 0 67,320
OFHY BHAAEY A 23 HXA
67,320,000& 67,320
< 20,196




SN EMFED
HE: SMAB A5
©: Jtseldae (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| | Al 47,124
H=st=se 7,807,616 8,709, 145 A 901,529
J| 3,397,587
< 1,034,957
Al 3,375,072
A= s 6,645 6,645 0
201 ¢4l 4,500 4,500 0
01 At 2t 2l 4,500 4,500 0
OBt~ 2,100
o B HRFA 2,100,000 2,100
0=t 2,400
o AN YREX 2,400,000 2,400
202 04l 2,145 2,145 0
01 = LH 4 Hi 2,145 2,145 0
DEEEEVR-EELS 2,145,0008 2,145
F&E SHNEZMLAAS 280,000 280,000 0
301 et d s 280,000 280,000 0
NIJIEEd=s 280,000 280,000 0
OZXE IEEaMeXE 280,000,000& 280,000
NEBL MM (HS, BS)(EX) 666,171 1,034,000 A 367,829
J| 362,657
< 134,757
Al 168,757
301 et a = 340,000 420,000 A 80,000
J| 170,000
< 68,000
Al 102,000
NMIIEBE4d3 340,000 420,000 280,000
OdH A ZH X3 A 340,000, 000& 340,000
J| 170,000
= 68,000
Al 102,000
402 2I2H X201 M 326,171 614,000 A 287,829
J| 192,657
< 66,757
Al 66,757
01 B2t AL E X 326,171 614,000 A 287,829
ONEEZaH™AS (OHE AL 89,600,000 89,600
J| 44,800
< 22,400
Al 22,400
ON=EELHMeIMG(HEE 2ERMH)
236,571,000& 236,571
J| 147,857




AN SIS H
Hu: SaMEB Y3
ool Tola s (SHol: @)
SA - BB B () - MM - BES Ol &t o San HmEET
< 44,357
Al 44,357
ENS MAERZ2 XA (EX) 330,000 680,000 A 350,000
< 99,000
Al 231,000
301 L2 A= 330,000 680,000 A 350,000
< 99,000
Al 231,000
11IIEEAS 330,000 680,000 A 350,000
ENT MAEHAZ A 330,000,000 330,000
< 99,000
Al 231,000
A== XS 60,000 160,000 2100, 000
206 M= Hl 60,000 160,000 2100, 000
01 MHZ 4l 60,000 160,000 100,000
OXHHEX AFHMZH 2 60,000, 000& 60,000
EMS(EEL) =2H=EH XN (ExX) 3,240,000 3,692,000 A 452,000
J| 1,560,000
< 360,000
Al 1,320,000
301 LAz 3,240,000 3,692,000 A 452,000
J| 1,560,000
< 360,000
Al 1,320,000
1MIIEESS 3,240,000 3,692,000 A 452,000
OZAE ==l =8l 3,240,000,000& 3,240,000
J| 1,560,000
< 360,000
Al 1,320,000
EMNZ(EEe)ZIH FHXAI(EX) 1,350,000 1,740,000 A 390,000
J| 570,000
< 390,000
Al 390,000
402 RIZEX20| A 1,350,000 1,740,000 A 390,000
J| 570,000
< 390,000
Al 390,000
01 It AL B X 1,350,000 1,740,000 A 390,000
OEF=2cldgH 2e&l 1,350,000, 000& 1,350,000
J| 570,000
< 390,000
Al 390,000
EMNS(EE2)MHl & 2FEXNE E5(Ex 370,000 343,000 27,000
J| 370,000
402 RI2HXt20l ™ 370,000 343,000 27,000
J| 370,000




SN EMFED
HE: SMAB A5
el HHEs=sg (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 It =2 AL EE 370,000 343,000 27,000
OZANE M & RFENE 28
370,000, 000& 370,000
J| 370,000
ZANSSFEHRLHX (EX) 1,317,200 552,000 765,200
J| 526,880
Al 790,320
301 et d = 1,317,200 0 1,317,200
J| 526,880
Al 790,320
MIIEEd= 1,317,200 0 1,317,200
OXZAESEF EH22Hl X&
1,317,200,000& 1,317,200
J| 526,880
Al 790,320
ZNR ERSATY PAHXA(RE) 19,600 95,500 A 75,900
J| 8,050
Al 11,550
101 @144 Hl 16,000 0 16,000
J| 6,250
Al 9,750
04 JIZHHZ2XREE S 16,000 0 16,000
OZANEEE EIHKA 12,500,000 12,500
J| 6,250
Al 6,250
OZANESE BINA F5==2 € EEE
3,500,000 3,500
206 = Hl 3,600 0 3,600
J| 1,800
Al 1,800
01 MHZ 4l 3,600 0 3,600
OZANESSE BIHK& 3,600,000& 3,600
J| 1,800
Al 1,800
ANsstam)] NA(BEX) 8,000 0 8,000
< 3,200
Al 4,800
402 QI2H X201 M 8,000 0 8,000
< 3,200
Al 4,800
01 B2t AP E X 8,000 0 8,000
OXSsta I X 8,000,000 8,000
< 3,200
Al 4,800
AZ IO E Z I XEA(BX) 160,000 0 160,000
< 48,000




SA: ZMEEY
Hu: SaMEB Y3
el HHEs=sg (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 112,000
402 RIZEX201 ™ 160,000 0 160,000
< 48,000
Al 112,000
01 SIZtt=2 AL B X 160,000 0 160,000
OMZS XL BHEEBIXIE 160,000, 000& 160,000
< 48,000
Al 112,000
FaEE Od & HRXE 317,520 574,766 N 257,246
= 20,000
Xl 80,000
= 29,428
Al 188,092
SHEZ A 317,520 574,766 A 257,246
= 20,000
Xl 80,000
< 29,428
Al 188,092
AT YR 6,892 6,892 0
201 et 4,500 4,500 0
01 AP 2teltl 4,500 4,500 0
O E=EH| 2,200
oY ot HEZA 2,200,000 2,200
O=&l 2,300
oot FRFA 2,300,000 2,300
202 oddl 2,392 2,392 0
01 = LH o4 1l 2,392 2,392 0
O =4 R 2,392,000 2,392
HYEAMNEBEZS(EX) 6,608 2,074 4,534
= 1,468
Al 5,140
201 Let24d] 6,608 2,074 4,534
< 1,468
Al 5,140
01 At 2teltl 6,608 2,074 4,534
| DR R<Iget=u]l 6,608
o Hgel MREZ 6,608,000 6,608
< 1,468
Al 5,140
SUSLRHLLRMI(XE) 100,000 100,000 0
Xl 80,000
Al 20,000
206 M= Hl 100,000 100,000 0
Xl 80,000
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